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Total No. of Questions : 10] [Total No. of Printed Pages : 8

(2034)

UG (CBCS) IIIrd Year (Annual)
Examination

2974

B.COM.

(Fundamentals of Financial Management)
(DSE-2)
Paper : BC 3.2(a) Old Code
BC 3.1 (c) New Code

Time : 3 Hours] [Maximum Marks : 70

Note :— Attempt one question from each Unit. Attempt five
questions in total.

yoF TEE § FE TH T HIA0 FHHA WA T

Hifeu |
Unit-1 (3&1E-1)

I. Critically examine the modern concepl of Financial
Management and discuss the impact ol (inancial
decision on the Growth and Value of Firm.
fadfg wasH &1 SnyfAE AME # SATATATHS
Thym Fifan 3 wd & fawm Av ged W fade
favfg & wwra W == Hifsu | 14
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Yoo lheher e et igher sl be e ok o this
comtext e the varnen visks associed with an
IRset

Pt sttven trod s sifves ot gy gn sl W
Pty atoweita oy fefs ot g e it

Unit-11 (gr$-11)

YA company s consdenng an ivestment proposal 1o
mstall a0 new machinery. The  project will cont
T S0000 with Tife of 5 years and no salvape value
Fhe s vate of the company 5% and it uses stanght
line depreciation The estimated cash Hows belore
iy (CFBTY e T 10000, 2 (1000, 14,000,
T 15000 and T 250000 durng the vear 1020 4,4
and S respectively
Compute
() Average rate ol returnm
(u) NPV a0 10% discount

() Profitabihity andex at 10% discount rate.

PV Factor at 10% tor hve year 0909, 0826, 0 751,

0683, 0621

v oAl 42 gt wafaa & & few fqan wram
w1 famn w1 T # TA 9wl A S oAad F
Araawr & A4 fan (w3 ama yer 4 3 50,000
B wTTHl AT R 4T S5 B AW qE =L 1 gerrsi
1 OITAM AT B EHU AT [, 234 S & 2
1 »

®1 9 AquifAaa aEd wEE (CEBT) T 10,000,
211000, T 14000, T 15000 s 3 25000 F)

CH-274 (2)
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norgr atfun
(1) fed w) shua gt :

() w109 o v
iy 0% w2 21 sl TS .
W ad ow tem joo e RaE 0909, D E2G
D751 06K 0 A2)

i) Fhe Board of Mangemen I W

\
TR IR LT r et Copn

at 250 and 1t s estimated that
will be T 53

L TTT LIS 10 TS At y Ll

Vo
Shane s selhing

alter o year the price
vilue of cquity shard

() What will he present

[
1oreguired rate ob retunm s 10
[

(1) Calculate the returm o on share

brought and sold alter a year

X fafare =1 s Ard o ot F A T A i

F) T SN AT oA TS0

A AR
we A

i fas B o R oo
FA 2 S @

w4 2 oUE

oy Atz fra & TR 9 (e & oA st
gi A AAWA qed AN Em
) rxtaﬁmnmadatmaarmmmmm

?-hmmh»:—i-ﬁmaiﬂﬂm
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UF wmEE (0000 T ok ueE o100 2%
B/O-GR AW ] B wmMowa (0 Al E A SEe
I OWEM & T H AT 5% 7 ate wm o A b

A B A ATE BT OUE # Evm O weh e
() #TH ¥y T
(wy  \W0% 2 T
iy V0% g |
Unit-1V (Z#TE-1V)

avalable morespect of

The tollowing intormation is
XYZ laud

(1) Faming per share T 10
(0 Cost ol capital (K ) 15%
Caleulate the market pnce ol share under dilferent

15% and 107 for different

rate of return (r) 200,
payout ratios of (a) 40%, (b) 80%. () LOO%

XYz fafors & @ d faerferfma sA®T 30
t .

) afa wr
Giy PR E Amm (K ) 15%

(1 1000 fafaA A ST
R LU L
w1t

A T 10

Gy A0% . (hy B0,
4 fan frzd w1 fafu= 2 o) 0%
% AEA g F AT yea 1l

(6

CH-274

Discuss Tully the Guordon's Model ol relevance of

dividend policy of the valuation of firm

ol & gearEa w A Al #1 g % f€q

ufze w1 A ATE 7 THA FAT 14
Unit-V (3%T3-V)

Use the following particular. determine working capital

required hy XY7Z Lid

() Average amount lock-up in Stocks . T
Stock of ruw material 20.000
wip 4.000
Stock of fimshed goods 30.000

() Average credit given
Home market = 2 weeks credit 2,60,000
Foreign market : 6 wecks credit 6.,24.000

(i) Time avinlable for Pavments
For Purchases 4 weeks 1.56,000
For Wages 2 weeks 2.08.000
For Mig Expenses 1| week 78.000

You may add 1079 10 allow Tor contingencies

Fatafaa fam 41 swam #3 o, .\'Y?h. fafuze gm
AAYTE FVe §uft ) favten 53fao
(TR S G B 12 C ) S e ?

RAAa 1 B R
20,000

LS

CH-274
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S ks S o o e P 4 ) [ e el W |

(hy N {
Mr. X has o perpetual bond of the fuce value

oF ¥ 1.000. He receives an interest of 2 80
annually lis cumrent value s 21,200 What s

the vield ol matunty ?
%ffqlix?ﬁwfl.mmaifmqmmmm
aﬁzlmmtsnmmﬁmiam
FAEE e T 1,200 ¥ ufremEm F1o3ww ww
T2

Unit-111 (Z&E-111)

S. The tollowing s an extract from financial stilement

of Z lLad T lakhs
Opcrating profit 180
Lesy o Interest on debentures 48

132

lexs o Income tax (50%) 66

Net Profit 66
Equity share capital (shares of T 10 cach) 300
Reserves and surplus 150
16% Non-convertible debenture ﬂ(_)_
750

The market price per cquity share is T 11 and per
debenture T 95

()  What 1s carming per share 7

i) What 1s the percentage cost of capital 1o the

company lor the equity and debenture fund

CH-274 (4)

14

RO i, M . m ms

zfﬂﬁ%s%faﬂhhamwmmﬁﬂﬁvfua?:

a9

wfraer N 180
g2+ wRU-TH 1A 48

132

gErgr . HEET (5070 66

e — 66
kel v ¢ (weEE 210 F ) 300
s wA s 150
6% Tr-ufaddaa =mm-93 300
750

afa sfaad s @ A ged 3 11 SR gl T

795 %

(i) i PR FEE @ B 7

iy A s wwows wz # fAw ween & fed

F wfama =mEm = & 7 14

6. A company issues 10,000, 12% Debentures of T 100

cach. The debentures are redeemable after 10 years,

Tax rate is 35%. You arc required to complete the

cost of debenture, f debentures are assued at -

m  Par

() 10% Discount

() 10% Premium

CH-274 -
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s Sl 4,000

TR e F RE 30 000
Giy fem mn shwa wfee

e 9NN : 2 e fee 2.60,000

faevft amm : 6 "@e Hfee 6.24.000
(i) wram & fog Iver= w99

et # fem @ 4 §aw 1,56.000

gaq & fou : 2 @aw 2.08,000

fagfo & fou =g @ | 9<® 78,800

ST sTEfaTH@s # el @ fow 10% Mg §hd

gl 14
10. What is meant by Working Capital Forccasl 7 Brelly
explain the techniquces used in making such forecasts.
Friviter 4ot qatgE @ @ A X2 W @A
M3 § IwEm & 9E F qEAiE H HE9 H

14

qaAEe |

CH-274 (8)
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Total No. of Questions : 10] [Total No. of Printed pugcs -3
(2034)

UG (CBCS) IIIrd Year Annual Examination

2973
B.COM.

(Corporate Governance and Auditing)
(DSE-1)
Paper : BC3.1 (c) Old Code
BC 3.2 (a) New Code

Time : 3 Hours) [Maximum Marks - 70

Note — Attempt one question from each Unit. All questions
carry equal marks.

mmﬁqmmwaﬁﬁqlwﬁm%m
Wo|

Unit-1 (3&13-1) 14 each

Define  corporate governance. What are the main

charactenstics of corporate governance 9
e & ofiarfg FC P e
9721 fagmand s |

CH-273 (1)
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2. Explain  the mandatory and  non-mandatory

recommendations of Birla Committee for corporate
governance.
o duem @ fou fawen wffa w1 sfEe @R
TR-wtfrard fawiiell #1 =wEen Fiw

Unit-II (3TE-11) 14 each

3. Define corporate social responsibility. Explain the
scope of corporate social responsibility.

Fiite GElfss SR | 19 @1 9Hg § 7 &
gmrfes R & = & aR § Fasu)

4. Define the term corporate failure. Discuss the
symptoms of corporate failure.
FaTz faerar &1 wRwifua Hifon | widie fawe %
F AN § ?

Unit-ITT (3&TE-110) 14 euch

5. What do you mean by Business Ethics ? Explain the
need and importance of business ethics.

S A | F AT & 7 SR Hfcrahan

# A G e w a H

CH-273 ' &1

6. Define cthics committee. What are the different types

of ethical committees ?

S wfafed @1 aroenfaa Fiee) fafiE TwR Eal
dfr wfafedl & an # =aET)
Unit-1V (F&E-1V)
7. Explain briefly the main benefits of auditing.
sge & @ % faEIgE® A9 e

8. What do you mean by internal check ? Discuss in

14 cach

detail internal check for cash transaction.
sfi Sife @1 FN HAeE § 7 TS or-gd & oy
foman § et witg WS HIST
Unit-V (F&E-V) 14 each
9. Definc audit report. Explain different types of audit
report.
sdae fge @ uhewfwa wifew fafws wwe =
spem frdid w1 aefa ifsa
10. “Cost Audit is a Luxury.” Comment.

‘AT SEeT U faentaa ¥1" gvE el

174

CH-273 -
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UG (CBCS) IIIrd Year (Annual)
Examination
2980
B.COM.
(Management Accounting)
(DSE-3)
Paper : BC 3.5(c)
Time : 3 Hours] [Maximum Marks : 70
Note — All questions are compulsory. All questions carmy
cqual marks.

aft o sAfard 0 ot e ® s oFwE

I  How does Management Accounting differ from

Financial Accounung ? Discuss the imponance of
Management Accounting.

qa-+1%1a Aarwa fadm a1 e gwn fvm & 7

ygSF AEEFS H gee H ANA RIT

CH—280 £ ¥ Turn Over
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Or (3tgan)
Explain the uulity of Financial Statement analysis to
vanous partics interested in the Business.
= § fea @ @ fahm wsi & fou fasm
faamm favdum 1 swdfm & avia #ife
Explain the term ‘Break-Even Point’. How is it
determined and what is its use ?
‘To-famr A W w1 s wifv @ fEe wEw
favifa fem s ¥ @i sow @0 o3wEm & 2

Or (3ryam)
From the following data relating w S.K. Traders
calculate :
(i) Break-Even Sales

(i) Sales required to eam a profit of T 6,000 per

m.%.égdﬁqwhmﬁwfﬂﬁﬂﬁuﬁﬁﬁm
Fifaw .

() @ fa=m famt
mm‘lﬁ!ﬁ,(xurmﬂﬁﬁmmﬁ%ﬁhﬁ

(i)
wo faat A @A
srafa
Q Q)
M) 42.500 38.700
(i) 39.200 36.852

period
Period Total Sales Total Cost
) (t4]
(1) 42.500 38.700
(1) 39.200 36,852

_ Dev Trading Co. manufactures and sells 20,000

Coolers at T 1.000 per Cooler. The details of cost 1s

as follows :

T (000

2
Materials 2.000
Lubour 5.000
Variable overheads 4.006)
Q_S(0)

Fixed overheads
Total 20.500



The Company has o capacity o produce 10000
Coolers per month. The Company has received g
offer for export of 2000000 Coolers at ¥ 650) per
Cooler You have woadvise the Company whether
this otier s acceptable or not,

T4 2fEn w000 94 £ F AT H 20000 FAd

w1 fHmm s fAE w0 R AR R AT 2y yEn

z

T L0y
RO 2.000
L] 5.000
sfradaeia Ttz 4.000
frr fram 9.500

o 1 fatn e 40,000 #en wfq W 71 wEE
F1 X650 7 Fem & w1 4 0000 Fen B A
T WA WA T R A o o T b R T

TEAR E] SRR fa4 Then om g1

CH"280 [ 4

() (3erem)
Write a detarled note on relevant and wrelevant costs
wrdling M AT wE wovw fasa de frfegm
What do you mean by Zero Base Budgetng™
o does e ditter from Traditional Budgeting

Y AT A A3 R OAT g mmga 70 aw wremm

TH24 4 fFH www g 2 o0

Or (394
The budgeted expenses for the production of 10,000

umis in o factory are as tollow |

Per Unit (%)

Matenals 70
Labour 25
Vanable overheads 20
Fixed overhead (3 100001 10
Divect varable overheads 5
Selling expenses 15% Hived 13
Distnbution expenses 2000 Tined 7
Administrative expenses (3 30,0001 3
T
Prepare a budget for the production ol 8,006 un:te

Cl—l“'280 {t 5) Turn Ov
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Or (3794n)

Explain in brief the various types of variances used

s ST dae 120 gaEd WA F 80
vt i R W 120 gamdl mwd @ IwE fE
wa wedt wafe freew @ e i)

s =g fafy 4 gam feu 9@ a@ fa=oon & fafvs
TEW W HET W guF Hifao)

in Standard Costing.

(8)

CH--280



UF ETER 00000 TR 3 @ fau gadm

M w1 famrm ot owan R

arm

“g

ufradseia sufram

fam aufrsza (21 00,000

vAs giEdTa frem

fawa = |5 =R

famr =3 200

wmEtE (2 s0.000)

SO00 TN F IAgER 4 fem

CH-280

{6 )

g

ufa e (T

4z

70

20

10

5
13
7
5

155

S The standard matenal cost of & product 1s as follow

Material Units | Price Total
?) Amount (%)
A o0 4 240
B 140 3 420
200 660
Less - Normal wastage 40
Net Yield 160 66(0)

The actual production was only 120 units. Matenal

used BO unns of A and 120 unus of B. Calculate

Matenal Yield Vanance

UF IR F THM "N oArA o faamm fra ouwn

t:
L @Al | g A
@) ofm @)
A o) 4 240
B 140 3 420
ML — 660
T ;A ST 10
qe I 160 660
CH-280 (7) Turn Over
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UG (CBCS) IIIrd Year Annual Examination

2976

R B.COM.
(Entrepreneurship)
(SEC-3)
Paper : BC3.3
Time : 3 Hours) [Maximum Marks : 70
Note -

Attempt all questions. All questions carry equal

marks.

Al yvq sfAEmd &1 oW wedl % & 9uE §
Unit-I
(3T3-1)

+H'H+ |. Explain the main funcuons performed by the

Entrepreneurs.

sufggl g faoafed q=3 %@ % IR 9 @dagu)

CH-276 (1)

Turn Qver
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Unit-111

(FETE-111)
Discuss the components ol Business Envitonment
p—cC 1t B ce AR DI K L LY

Or

(3reran)
Explain the need and importance of - Institutional
support in Entreprencurship.
mﬁmwmaﬁmaﬁ?q:aqﬁ
gaATEu |

Unit-1V

(3aTE-1V)

4 Explain the section and contents ol Business Plan
o A & W s faea -\ &l aeEEt
Or
(3Ter)
Explain techmques ol financial appraisal of a project.
ofdm & fadm genidd &l ddkdtel dl A
H1fu |

CH—276 (3) Tum Over



Or
(3reram)

Explain the role of innovation and creativity in

Entreprencurship.

SN § AR A e A oyfew 3 s
FIfSU |
Unit-I1

(FFTE-11)

Define Small Scale Industries. State IS importance to

Indian Economy.
T I H whwfen #ifem) wwdm geemme @
F] HEwl 44U |
Or
(37eram)

Discuss values. business philosophy and behavioural

ornientations of Ratan Naval Tata.



Roll No. 320000.3004)....

Total No.of Questions - §] [Total No_ of Printed Pages - 4

(2034)

UG (CBCS) IIIrd Year Annual Examination

2982
B.COM.

(International Business)
(DSE-4)
Paper : BC 3.6 (a)

Time : 3 Hours] [Maximum Marks : 70

Note -~ Auempt five questions in all. Select one question

each lrom cach Part. All questions carry equal marks.
Fa6 U WAl # 3w A0 woid 9m 4 F9d Uk
Yy gA FIfWU| [Y 99H % WF §9F B
Part-A
(Wm-37) 14 cach

I_Distinguish  between  Domestic  Business  and

International Business. Expliin the advantages and

disadvantages of Intermational Business.

WE FEEE a FA9ied FEdAm 0 3 Ww
FIAC | LA ZAEAAM H A9l a9 244 F1 ang
e |

CH—282 { 19 Turn Over



S k. - we

Unit-V
(3FTE-V)
S Explain different types of Business Resources
saEtas gEvEl & fafy= g w1 qHeE |
Or
(7o)
Discuss the need of contract management.

FAAS YEAA FHIOAEAVAFRA TOFA FHIAU

CH-276



(h
(37er4)

Explam  vanous components ol international

cnvironment attecting MNCs
TR FUtP F ywifaa w71 A SEE FTE
% fafvy= s =1 =men Fwifsv

Part-B

(WTT-3) 14 cach

ts

Crnncally examine the theory of comparative costs ot

Intermational Trade
A=A F ST RIS |
()

(3rgam

Discuss the orgamsational structure. objectives und

functions of WTO.

{493 =17 TE3 F1 SUSASF STST IevA Ae
FE F FUF FITAC

CH-282 (2)



()r

‘ / drrni
Explain the role of information technology 1n v

functional arcas of international husiness

AANI Zamm F fafu=a wvew a0 oA
ThANF F uge F1 Anq FHa0 ]

Part-F.

(WTm1-3) o

S Explam the vanous CAPOIT Promotion Measurces taken

in Forcign Trade Pohey of India
qrd 8 fagw smp Gifa # aza faga gaE & o
fAfu= 3w w1 ama wrfan
()
(394
Crncally amalyse the role of Forergn Investment

face a9 & 9em =1 aSe=REAE fAvemm w1

CH-282 (4)




Part-C
(Wm-%) 14 cach
3 Explan vanous forms ol regional economic groupimg:s
\Iso state ments and dements ol such groupmngs
watn sitas el & fafu= e &0 ana #ifan
™ oayE & il oAw Al # o fageEmm
(r

(31e1am)
Discuss the objectives and funcuons of World Bank
fava 9% & ] aw FA F1 oATED AAT
Part-D
(WTM-3) 14 cach

4. Describe various issues in designing  organisational

structure of a multmational company.
TR FEA HI FEAEE A fTEEA w3 o=

ez fafe= |2 &1 A0 FwA0

CH-282 (3) Turn Over




Total No. of Questions S| [Total No. of Printed Pages : 4
(2034) “

UG (CBCS) 11Ird Year Annya| Examination

2986
B.COM,

(Personal Selling and Salesmanship)
(SEC-4)

Paper : BC3.7

Time : 3 Hours) [Maximum Marks : 70

Note — Auempt all questions. All  questions carry equal

marks.

qﬁmﬁm‘wﬁﬁQtHvﬁWﬁ%ﬁmw%|

I Define Personal Selling. Discuss the important features

of Personal Selling.

Afara faga #1 wfiaran €fae) sae qe fasmas
#1 FUiA FIfew |

(R
p—
)

CH—-286 (1 ) Turn Over




Or
(3terEn)

What do you mean by Sales Management ? Explain

various functions of a sales manager.

ol "wsva | oy == geww ¢ 2 T faw vEues

= fafu= =@t =1 e 2,12

Explain Maslow’s need hierarchy theory of Motivation.
Also explain its assumptions.
et & afudvg @ fagm B WEEEC
Tt w1 Mt aufa wifea

THht
10.4
Or
(3rgam)
What do you mean by Sales Motivation ? Describe

the dynamic nature of such motivation.

; cess. What
4 Define Selling Pro e varigys steps

jved in the gelling Provees 2
involv

ﬁﬁﬂmaﬁ“ﬁmm'“mﬁwﬁa
ﬁfﬁmﬁﬁWMI

212
Or
(3eran)
Write detailed notes on the f°”0wing :
(i) Handling the objections
(i) Post-sales activities
frefatea w fawga fewafrat fafen .
(y oTutaEl w1 HaeE/g
(i) Taramu= fEamd =

4. What is a Sales Report ? What are main objectives
faa Tt sfudTo @ 9 F o & 2 W of writing a sales report ?
stfardor &1 Tifaeite wHfd 1 EEEHEC 2,12 ozt fae @ ¥ 7 T foed & gen s A 2 L2
CH-286 (2) CH-286 (3) Turn Over



| PR ag

(r

(3terdl)

What s 5 Tyxplain an
hat is mean by Sales pocument ) Explain any

Tve
Jive documents related to gales:

BT TR ¥ g gy g § PR A i

ol o ceasi @ oy AT SiE _

Define Distribution Network Relationship. Explain !

hn

the merits and functions of such relationship.

ﬁﬂmﬁaﬁw'aaﬁqﬁwaﬁww@w“ﬁ@ i

Emﬁ‘f E2 a-uh Eﬁﬁﬂﬂl 2,6,6 ','

Or
(3Tera)
What are the chief advantages of Advertising 7 Also

explain its limitations.

e ® W A w§ 7 gt weel & i
AN HICL 10,4

CH-286 (4)
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Total No. of Questions : 5] [ Total No. of Printed Pages
(2034)

UG (CBCS) IIIrd Year Annual Examination

3058

B.A. ECONOMICS

(Economy of Himachal Pradesh) (DSE-3)
(Common with ECONA 313)
(GEC-1) & ECONHA 307 (DSE-3)
Paper : ECONA 303

Time : 3 Hours] [Maximum Marks : 70

Note — Attempt five questions in all, selecting one question

from cach Unit. Question No. 1 is compulsory.
TEE THEE U U Y IR gU, e Ui T @ S
difsul g wem 1 sfEd 9
Compulsory Question
(stfrard ue)
. (A) Answer the following L{}ICS(iOﬂS :

faafdfaa yvdl & 3@ dfen

CH__358 (1) Turn Over




(1)

(1)

(1)

H-358

When was the Land-holding Limit Act of
Himachal Pradesh implemented ?
(a) 1971 (1972
(c) 1988 (d) 2015
F9 @ faa o2
(#) 1971 (=) 1972
(3) 1988 (g) 2015
What is the estimated hydropower potential
of Himachal Pradesh ?
(#) 27436 (b) 26,672
(c) 27,000 (d) 24436
e waw #1 agmtm e foed s
7 E 7
(H) 27436 () 26.672
(9) 27.000 (3) 24436
\\r.hal is the real per capita income of
H@urhu! Pradesh in 2018-19 4 conslant
prices of 2011-12 2

(@) ¥ 92085 (b) % 12652
() ¥ 87828 d) ¥ 1,15293
f2)

2018-19 H 2011-12 =t fer Fmdl W
fearae wew = arafas ufq =afe o=

FME 2
(31) T 92,085 (F) T 126521
(°@) T 87.828 (=) ¥ 1,159

State True or False :

B e e I 5 L

About 15 preent of the totul Gross State

Domestic Product (GSDP) comes from

agriculture and its allied sectors.

FHel (GSDP) ®&hal T4 Wi{g] IE

e 15 wfaera ferm Ffu o sas gg
&5 | s ¥

On the recommendation of Narasimham
Committee, NABARD was established on
12 July, 1982.

Wiggw wfafa # fawfel w AEE =t
T 12 §eS, 1982 § H T et ?

(vi) Sharc of the tourism scctor in the state

(iv)

(v)

Gross Domestic Product is 7 percent.
g & HHhel W UG H e &
e 7 wfawd €

Turn Over
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358

Skl development allow ance scheme was

inched in ... - in Himachal Pradesh.
(2001/2003)
FTE AEE YA Gt ;9 o g

ErTm w3 o ows w5 owE e
(2001/2003)

(vii) Monthly pension of 1s given by

the state government to the aged above 70
@ 1,5007 1,200

Veuars.
THE FTER FTT 70 99 H afuw ggi w5
JiqEE FT FH 5 A B

(T 1.S00/F 1,200)

ix) Sharc of azricultural sector which  still
occupics a signilicant place in the state
CCONOMY  oovviviriin: percent of total  state
wis  generated by

domestic  product

agriculture and allied scctors during  the

veur 2017-18. (8.8%/9.2%)

(4)

(x)

Fu &5 @ femm s ow off wem Wy
AFAT H UF WEeYY W @Al

Ffa T Hag 4 g owd 2017-18
A I fEm wa W (8.8%/9.2%)
During 2018-19 the per capita availability
of milk in Himachal Pradesh was Fropnass
(584/610 gram)

gram/per day.

2018-19 % 3IRM fearaer w29 & 3w =t

ufa =af SuesEar o T/ gfafes
ot (584/610 um)
Ix10=10

(B) Solve the following questions :

ﬁwf%if@awa‘faﬁmaﬂﬁq:

(1)

CH-358

Write a short note on the wetlands of
Himachal Pradesh giving examples.
FWE 2d g0 fedaraer ww s yfei
W UEH Hiarw Gz fafa

Turn Over
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(1) Discuss the pattern of population growth
in Himachal Pradesh during 2001 to 2011.
What are the basic components of
population growth ?

2001 & 2011 ¥ == fewem Ww A

3z % g7 TeF FE 7
What are the main problems regarding

(111)
7 What do

industrialisation in the state
you suggesl 1o remove them ?
g & i @ T g A

e

=

<d

e

?
(iv) What are the main hydro power projects
in Himachal Pradesh ? Explain.

= ‘W‘. a :r;: '/ o214 —mr[fj'ﬂn I 4)(5:20
Unit-T (z&13-1) 10x1=10

Discuss the status of land administration and land

reforms in Himachal Pradesh.

7w 1 frafd

CH-358 (6)

Or (NWET)

Write a detaile
d note on the Minerg|
Tesourceg
of

Himachal Pradesh.

#t foegg
e i

Unit-II (3¢

IOX!:]U

3. Explain the ex
tent of crop diversification in Hi
IMmacha]

Pradesh. Explain
the factors
responsible for
C]'Op

1VETSI
“(: 1t nin C
i~} 1

its way ?

e

43”'5‘5‘9?311?%@1%1&%%% .
T T F o fafy %fmimavm
maﬂaﬂf:rﬁﬁmsyqpfaﬁww;)

Or (3teran)

Explain various
arious sources of
rural credit i i
in Himachal

Pradesh. What

finance.

are the major shortcomings of rural

e W § i W ge W # e

CH-358

(7)

Turn Qver



= Unit-11T (3&1E-111) 0% 1=10

:LA

Discuss the environmental issucs related o
| industrialisation and power projects in Himachal
| Pradesh.
feamer yow § AT S wm faed S
q =g T9eong Hi'l W g9 hifed |

Or (1Y)

Explain the Industrial Policy of Himachal Pradesh.
2013,

fedre™ 9=9 FI smEE Aifd, 2013 1 av wifs
Unit-1V (G&E-1V) 10x1=10
5. What are the problems and prospects of tourism in
Himachal Pradesh ?
Or (R9E)

Write detailed notes on the following

(i) HIMUDA

(i) Regional rural banks

et T fawfm feorfoer feffem

(i)  HIMUDA

Giy @sm g 9

CH-358 (8)
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Rl O, . oemsnisismumpmp s se 5
Tolal No. of Questions : 5] Total No. of Printed Pages : g
(2034)
UG (CBCS) IIIrd Year Annual Examination

3056
B.A. ECONOMICS

(Indian Economy)
(DSE-1)
(Common with ECONA 314 GEC-2)
Paper : ECONA 301

Time : 3 Hours] [Maximum Marks : 70

Note — Allempl five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory.
1 UTE YU KIS0 | TAH FHE § Teh F9 H1 T
Fifsm | yoq Hem | e g
Compulsory Question (Hﬁ'ﬁﬂf q9+)
. (A) Attempt all questions. (Muluple Choice
Questions) :

adft ovl & I AU (Fgfasmedtd geR)

CH""356 (1) Turn Over
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) | s (e i i ' 1
- Who chairs NITI Auyog in India ’ (i) Which of the following schemes initiated
by government of India aims to improve
the food and nutritional level of poor in

(hy  President the country

() Finance Minister

Governor of Reserve Bank of India (@) Mid day meal scheme
Prime Minister (hy  Integraied child development scheme
() Public distribution scheme

(D All of these

frfafetd 5§ i www gm w5 o

wrm & Afs AN FT AT HHE H

(=) fa= T s e b
| mmﬁqmqumiﬁmam
() g GO WY OPHR M E )
(m) frad F= A% zfzm #: oTE () H9AIg 99 A3
(%) FIAT=1 () UHIFd F9-fawE Fem
(1) Which five year plan came up with the ) ferrm
(%) & |

slogan “Garibi Hatao™ ?
(iv)  Who recommends the mimmum support

(u)  5Sth (b)  Oth : : : |
prices of different agnicultural crops n

i) 8 (d) 12th India ?

ETE ZZiA # AW R deadtr A A (1) NABARD

H

fean Pm 7 (b)  Commission lor agriculture cosis and
- B e e DIICES
() == () @ad] P

; (¢)  Ministry of agriculture
(7) A (z) e

(d) NITI Aayog

>H-356 (2) CH-356 (3) Turn Over
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(vi)

CH-356

ava H fafm $fy suell & =g amey
= & fuRw =) fawie 9 ww@ & 2
(31) e
(9) U ¥ T ge9 AEm
(5) F0 5=
(7) ifq smEm
Which one of the following industries has
been kept reserve for public sector in
India ?
(a)  Petroleum
(b)  Mining
(c) Railways
(d) Both (a) and (b)
Fefofaa sErt § 4 fra o sgm @
W W OREEEE A F fou g e
™ ¥ ?
(4) wZrferam
(A) =7
(A) T™m
(7) (#1) 971 (;) <M
What is the logo of make in India
programme "
(@) Lion (b)  Elephant

(c)  Tiger (d) Horse

% A Tvem FEwmH & Oy 9%

- & .
(31) I (=) wd
(/) = (3) =l

State true or false :

W A¥al A9E 9T

(vii) Shortage of energy resources and raw
material is main problem of industries in
India. (True/False)
G H H HEEA qon %9 i i R
A R eI WEE ¥ (He/3E)

(viii) Kisan Credit Cards are not issued by
commercial banks in India.  (True/False)

T § e wfer w1 st S0 g

RUE LIRS (e s
Fill in the blanks -
fr wm wfw
) s scheme aims to provide free

access o health insurance coverage for
low income carners,

(JanDhan/Ayushman Bharat)

................. qoA w1 FEgA FH A A
At & forn T wEEe S OTEE FE e
(SH-¥A/ A 9 )

CH-356 (5) Turn Over
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(5.5) R— commitice is related 10 estimation

of poverty in India. (Tendulkar/Kelkar)

9RAOH ERCURECE e o RS

TEfaE &) ( TEAFT [ FHeAFT )

) Ix10=10

(B)  Short Answer T'ype Questions - ;
EERELCCER-E

(1) Write a short note on colonial explottation

in India
9P H STIEYE viem w owiam e
Forfor |
(1) Writc main features of Food Security Act,
2013.
M HJTA AR, 2013 F1 e fasigend

-
[ 2 |

1) Justly the need of second gicen revolution
in India.
9rd q 7N 2 wifa # amvaEa w5
'd,:"”r]r?f 7':”"3]{[
(tvj Explan the importance of industrialization
in India.
4PA H SERTET F wee 1 s
FIf0 | Sx4=20)

-356 (6)

2

Unit—1 (z313-1) 10x1=10
Define 7€% CCO!'I.ﬂmicr policy. 'I“n what extent it has
heen able (© achw‘vc its objectives ? Explain.
s BT P A RE TR ARA W E ) sy
A |

Or (312ram)

pistinguish between Planning Commission and NITI
Aayog. Highlight composition and functions of NITI
Aayog.
maﬂﬁmamfﬁaﬁmﬁwmaﬁmlﬁﬁ
AAM HI FAEZ TM HE W g iferu |

Unit-I1 (3#3-11) 10x1=10
What arc the causes ol uncmployment in India *
Explain the steps taken by eovernment of India (o
overcome this problem in the last decade.
yTd | TSR % T HIU B 7 YR SRR o TR
T I | TH % feu fusa que R e meow
T AN HIFAT

Or (3

Discuss the performance of divect benefit [runsfcr
scheme. What are the difficulties in its
implementation ? Also give suggestions to make its
implementation morce cllective. )
gopg e S ASE e 6 e Wﬁﬂl;
o e & gaE e & o ggm

Turn Over
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Unit-1yj (mg-m)
Mculture murketing. Give Main fearyres
S of dg8riculyre Marketing | India. w
g0vVernment has ' IMprove
Marketing 9 |

agricultyre
FN oy

ang
At steps

ges faced by Indian
agriculture in liberalized policy regime.
HATE F sl iy Ffu =
HE fafym o8 5 5 =S - ?h*i%rgl
Unit-TV (z&rs_y)

tically evaly

ate industriy] policy of
1991 =V “Arpifirs .#\ﬁﬁmamm A= T
T Fifg |

A4H, @9 99 9w 3qmy 9y RERIEL ai'ls'q'. =
Wﬁwmﬁ% SRR Al
- " & o = - 7
WeAEA % e FH-#a wrm frn §

(8)

\QX|::

B L Ui TR
. S ¥
: LU { ; i s
Y .

10




